
Question -1) Which of the following most accurately reflects the main purpose of the passage?

A) To discuss the historical context and ongoing challenges in Bangladesh under Prime Minister
Sheikh Hasina's rule.

B) To analyze India's strategic responses to political crises in neighboring countries.

C) To compare the political instability in Bangladesh with that of Myanmar and the Maldives.

D) To highlight the role of the Bangladesh Army in shaping the political future of the country.

Question -2) Based on the passage, why is the army’s acceptance of Muhammad Yunus as the
head of the interim government considered unusual?

A) Because Yunus is closely aligned with the two major political parties in Bangladesh.

B) Because the army typically prefers to appoint technocrats without popular support.
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C) Because Yunus has a history of supporting military coups in Bangladesh.

D) Because Yunus was a strong supporter of Sheikh Hasina’s government.

Question -3) Which of the following is a key difference between the political situations in
Bangladesh in 2009 and 2024, as mentioned in the passage?

A) In 2009, the unrest was sparked by a student-led protest, while in 2024, it was led by a
paramilitary force.

B) In 2009, the army intervened to suppress a popular government, while in 2024, it is seen as
facilitating the democratic process.

C) In 2009, the army supported Sheikh Hasina's government, while in 2024, it has overthrown her.

D) In 2009, the opposition supported the government during the crisis, while in 2024, they
boycotted the elections.

Question -4) Which of the following can be inferred about India’s position on the situation in
Bangladesh?

A) India is likely to strongly support the Bangladesh Army's intervention in the political process.

B) India may face challenges if it fails to engage with all political factions in Bangladesh.

C) India is actively encouraging religious tolerance in Bangladesh through strong diplomatic efforts.

D) India’s development projects in Bangladesh are at risk due to the changing political landscape.

Question -5) Why might the students’ agitation pose a challenge for the interim government
led by Muhammad Yunus?

A) Because it could lead to the re-emergence of extremist groups that had been previously
suppressed.

B) Because Yunus has no experience in dealing with large-scale protests.

C) Because the students' movement is directly opposed to the principles that Yunus stands for.

D) Because the agitation is driven by support for Sheikh Hasina’s previous policies.
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Question -6) According to the passage, what is one possible positive outcome of the army's
perceived vulnerability in the 2024 political situation in Bangladesh?

A) The army might relinquish control to a civilian government permanently.

B) The army might be more responsive to the democratic aspirations of the people.

C) The army might collaborate with extremist groups to maintain order.

D) The army might restore Sheikh Hasina to power under certain conditions.
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